RD Sharma
Solutions
Class 11 Maths
Chapter 32
Ex 32.1



Statistics Ex 32.1 Q1(i)



First arrange the given numbers in ascending order
write these numbers in ascending order

3011, 2780, 3020, 2354, 3541, 4150, 5000

we get 2354, 2780, 3011, 3020, 3541, 4150, 5000
Clearly, the middle number iz median, 3020
Calculation of Mean Dewviations

% Idi|= |“i "3'32[]|

3011 9

2780 240

3020 0

2354 666

3541 521

4150 1130

5000 1980

Total d; = 3 |x; — 3020 = 4546

MD= % _ 2% _ga9428

Statistics Ex 32.1 Q1(ii)

Clearly, the middle observations are 46 and 48, So, median= 4%

34
33
42
44
a6
48
54
55
63
70

We have,
Z|x;- 47|=£d; =86

1 1
M.D = ;EFH- ﬁ[saas]- 8.6

Statistics Ex 32.1 Q1(iii)

Arranging the observations in ascending order of magnitude, we have



30
34
38
40
42
44
50
51
60
66

Clearly, the middle observations are 42 and 44, So, median=43
We have,
EI’I{I - 43] = Ed.- = g7

1 1
M.D== 1= —|87|=8.7
~zf|- 5[87]

Statistics Ex 32.1 Q1(iv)

Arranging the observations in ascending order of magnitude, we have

22
24
25

27
28
29
20
31
41
42




Clearly, the middle observations are 28 and 29 . So, median=28.5
Calculation of Mean Dewviation

X-values Deviation from Median
22 5
24 4.5
30 1.5
27 133
29 9.5
31 .5
25 3D
28 > 0.5
41 12.5
42 13.5

Total 47




Clearly, the middle cbservation s . So, median=47.5

Calculation of Mean Deviation

X-values Deviation from Median
38 0.5
70 22.5
43 0.5
34 13.5
B3 15.5
42 S
5.3 i
dd Ty
23 T
47 0.5

Total 84

We have,
E |x',- - 4?.5| =Td; =84

1 1
M.D =% ||= —[84]=-8.4

Statistics Ex 32.1 Q2(i)

1 a0
Mean = HE = = - 10

Calculation ofMean Deviation

*-values Deviation From Mean
2 6
7 3
8 2
9 1
10 0
12 2
13 3
17 7
Total 24

We have,
Tlx - 10|=£d; =24

1 1
M.D=>%ld|==[24]= 3
Lel|- 224]

Statistics Ex 32.1 Q2(ii)



168

1
Mean = ~F | =

=14

Calculation of Mean Deviaton

*-values Deviation From Mean
13
17
16

—

14

11

13

10

16

11
18
12
17

LA L0 = 0 I NI QYN Lol WU o B | AN R Y

T otal

I~J
o

We have,
Tl -14=xzd, =28

1 1
MD=_2|d|=—[28]=2.22
Statistics Ex 32.1 Q2(iii)

500

1
Mean = EE %/ T 50

Calculation of Mean Deviation

*-values Deviation From Mean
38 12
F0 20
45 2
A 10
427 8
55 5
63 13
46 ¢
54l ¢
el 6

Total Sl




We have,
T|x;-50/=%d; =54

1 1
MD=— = —]24]|=2.4
—zf|- [84]

Statistics Ex 32.1 Q2(iv)

Lo

2=~ -=&0
10

1
Mean = HE |X,-|=

Calculation of Mean Deviation

*-values Deviation From Mean
35 12
70 20
4a 2
40 10
42 g
55 3
63 I3
46 4
54 4
e s

Total 84
We have,

Tl -50|=xd; =72
1 1
MD=Zzk|=—=[72]=7.2
~z| - [72]

Statistics Ex 32.1 Q2(v)



First arrange the given numbers in ascending order
write these numbers in ascending order

57, 64,43, 67,49, 59 44 47 61, 59

we get 43,44, 47,49, 57, 59, 59, 61, 64, 67
Let X be the mean of given data, we get

_ A3HAAHATHA S ST S0 1H6446T

H 5]
10
Calculation of Mean Dewviations from mean
A @] =% - 53]
43 12
44 11
47 8
45 &
57 2
59 4
59 4
61 &
&4 9
67 12
Total 74
MD=E¢=E=M
fn 10

Statistics Ex 32.1 Q3

Arrange the given data for income group [ in assending order, middle cbservation is 4400,
S0, median = 4400,
Mean deviation for group |

A= 200
4000 400
4200 200
4400 o

4500 200
4200 400
Total | >7|d| = 1000

1 1000
MD. = =¥ |d| - —= =200



Arrange the given data for income group 11 in assending order, middle cbservation is 4400,
So, median = 4400,
Mean dewviation for group 11

| |di] = e - 4400
800 &00
4000 400
4200 200
4400 0
400 200
4200 400
5200 1400
Tetal Z|di| = 3200
M.O, = EZ,|n::|,| = @= 457 .14
M 7
Mote: Answer given in the book is incorrect.

Statistics Ex 32.1 Q4

First arrange the given numbers in ascending order

write these numbers in ascending order

8 P s B o S S P W R 07 P P 8 L B 1

we get 15.2, 27.9, 30.2, 32.5,40.0, 52.3, 52.8, 55.2, 7280798
+

Cleatly, MMedian = g =46.15

Let 3 be the mean of oiven data, we get

— 152427 9430 2432 5+40 0452 3452 8+35 2472 5+79 0

X= =458
10
Calculation of Mean Dewviations from mean andwmedian
v Hl=lkodes] jgl=peasy
40.0 .15 5.8
523 .15 6.5
T 9.05 8.4
729 26.75 27.1
52.8 .65 7
79.0 32.85 e
32.5 1265 133
15:2 30.95 306
27.9 19.25 17.9
30.2 15.95 15.6
Total 167.4 166.4
A MD = k160 16.74
1 10
M D = l= 1604 =16.64
1 10

Statistics Ex 32.1 Q5(i)



1 455
Mean = —3 b [ <5 =455
X-values Deviation From Mean
34 11.5
66 20.5
30 15.5
38 7.5
44 1.5
50 4.5
40 5.5
60 14.5
42 3.5
51 5.5
Total 90
We have,

E|#; - 45.5=x5d; =90

1 1
M.D = —% | = ﬁ[gu]= d

Moy,
¥ -MD= 45.5-9= 36.5
X +M.D=455+09=0545

. 6 observations lie between ¥ - M.D and X %MD .
Statistics Ex 32.1 Q5(ii)

299

—=29.0
10

1
Mean = FE b [

*-values Deviation From Mean

22 7.9
24 5
30 0
27 2
24 0.
1
4
1

31

25

28

41 11

4. 12
Total 48




We have,
T, -29.9|=2d, = 48.8

1 1
MD =% =A T[48.8]= 4.88

M iy,
¥ -MD= 29.9-4,85 = 25.02
¥ +M.D=20.0+4,88=73478

- L observations lie between & - M.D and X + M.D.

Statistics Ex 32.1 Q5(iii)
494

Mean-—2|x|= = 49,4

38 11.4
70 20.6
48 1.4
4 15.4
63 13.6
42 .4
55 5.6
44 5.4
53 3.6
47 2.4

86.8

We have,
T |, - 49.4] = Ed- = 85.8

MD=—E|G'|— 5[B6.8]= 8.68

Mo,
¥ -MD= 49.4-3.68= 4072
X +M.D=4944+2628=53.08

. & ohservations lie between ¥ - M.D and X +M.D .




Statistics Ex 32.1 Q6
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